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Paper Second : 2011 Annual
Organic Chemistry

UNIT - 1
(a1) Freferfra & & - weturfers Afm al R 7
Which of the following is not an organometallic compound ?
(i) CH,COONa (i) (C,Hy) Pb |
(iii) CH CH, L (iv) CH,CH MgBr
() mﬁmﬁﬁmwﬁﬂt 7 mmmam
FFU R TARC:  What are the organometallic compounds?

Explain the order of reactivity of the following organometallic
compoun

(i) CHC Li (ii) CH CH ,MgBr (i) (C Hs)z
(H)WMW%?WM@W#&RXWW*
qizirE ITEEi w1 vl fIR |

What is the Grignard Reagent ? Explain the method of
preparation and synthetic application of Grignard reagent.
OR

(a1) ardder w1 g & (Formula of thioether is
(i) C,H,SH (i) C,H,OC_H,
(iii) CH,-S-CH, (iv) None of these
(X) OC-TRZ TETy] i Sfvaar wt TwRand |
Explain the acidity of the OC-hydrogen atom.

() TERIIIES 01 7 SERIMTES & FAr b fafer, sqor awr o fafead
What is the Sulphonamide ? Write the method of preparation,

properties and uses of sulphonamide.
UNIT - 2

(or) PR & & w1 s Frer Ervgroier ) B vl €7

http://prsuonline.com

Whatsapp @ 9300930012
Y our old paper & get 10/-
e 90d Ae 3K 10 Fud O,

Paytm or Google Pay &

wodsuruonsid,/dyy



woosuruonsad;/dyy

(i) (i) e

(iii) TR TF o A (iv) 38 & = i

Which of the following gives osazone with the reaction of
phenyl hydrazine ?

(i) Fructose . (li) Glucose

(iii} Fructose and Glucose both  (iv) None of these

@) wiFm T wmEme| What is the Epimerization ?
Explain. '

() v oY Pt % v erfidma fifre
(i) & Rl - (ii) g HNO,
(iii) wamaife® vt (HIO), (iv) Pb (CH,CO0),
Give the reactton of the following with glucose :

(i) Phenyl hydrazine (if) Conc. HNO,
(iii) Periodic acid (HIO),  (iv) Pb (CH COC))4
OR

(%) S Preiorre wgg ) Sufafe f age whamr 49 E:
(i} Feitatems ot (i) T (jii) Teme  (iv) 3 & 9 7l

Proteins give biurate test in the presence of the following
group: (i) Carboxylic acid  (ii) Amine (iti) Peptide
(iv) None of these ' :

() AW F el wdgor /TR 9 What is the Ninhydrin test of

~ protein ? http://prsuonline.com
(@) 3. T 7. i Heaw 76w aHEn |
Explain the structure and function of D. N. A.
UNIT - 3
(or) PreatfiaRee & & s agerm i & 7
Which of the following is not a polymer ?
(i) PVC (i) Silk (i) DNA _ (iv) DDT
(1) T % wasEhar a9 Rrara %) SRR |
Explain the valance bond theory of colour.

(=7) wvpferen ot iTela @R | AT wan wa € 7 daig & ot AR )

What do you understand by natural and synthetic rubber ?
Explain in brief.
OR

(m;mwam%mﬁmm%wmmmmt
(i) PRIER (i) oifedphimr  (iii) woest (iv) RS B
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~ Which of the following is essential for a substance to work

as dye 7 :
(i) Chromofore (ii) Auxochrome
(iii) Chromogen (iv) None

() Frer-=rer IS FRANT |Explain the Ziegler-Natta catalysis.
(w) Prefalaa fow ¥ 3o & R/l 3 3o & avfy S )

(1) ¥vnE A (i) Fi =
Describe the method of preparation and uses of the following
dyes : (i) Malachite green (i) Congo Red
UNIT - 4
(37) FoR SR TR &

)y m/2  (il) s (iii) fiveR (iv) R Qg Al
Mass spectroscopy is related to :
(i) m/2  (il) Absorbance (iii) Peak  (iv) None of these

() ST -y v % 2R 2, 4-Tvee & UV e # sramiror BreR

o) By the help of Woodward and Fieser rule
calculate the absorption maximum of 2, 4-hexadiene in UV
. spectrum.
(®) g TRt & Reara A TRART |

Explain the theory of mass spectroscopy.
OR

(a1) S - e v weivReoT & Lambert-Beer Law is :
{i) log,, 1,/ 1, = ECI (i) log,, 1,/ 1, = 10 ¢
(iii) tog,, 1,/ 1, = ECI (iv) I,=1 10 E
(@) 1. R. wgfich & fierfiiz 4t & e ) v |
Explain the importance of the fingerprint region in IR
spectroscopy.

(@) Frafafa & @ Explain the foliowing :
(i) oitcrt g (ii) =it freamas
(i) s1faolw (iv) sndvavie wra

(i) Hypochromic shift (ii) Bathochromic shift
(iliy Hyperchromic effect (iv) Hypochromic effect
UNIT - 5§

(an) TRt SR Sl o Pt g & srorm Ry e :
() FeafreamRt (i) ¥eRe (i) gver  (iv) pR Qs al
Nuciear magnetic resonance spectroscopy is studied at the
region:;
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(i) Radio-frequency (i) Infra-Red
(iii) Visible (iv) None the these
() NMR & TMS o sz dtfives % w7 & i Sy Frar e 2 7
Why TMS is used as reference compound in NMR ?
(@) Frafattra i s
(i) R Y fRufer aur Tawive fersmas
(ii) Perrall =1 Fvaweor o FRmA-fos gom
Explain the following :
(i) Position of signals and chemical shift
- (ii) $rhting of signals and spin-spin-coupling
OR
(o) wfrw dwwigie (CH, ~CH,~OH) ®PMR wam@ﬁmm
6 e g
The PMR spectrum of ethyl alcoho! (CH,— CH,—OH) will have
no. of signals : | :
(i) 1 (ii) 2 (i) 3 (iv) 4
() NMR SZhidt A 18301 qur Qftetor i st SHAnT |
Explain the shielding and deshieldmg effect in NMR
spectroscopy.
(&) NMR- 2Rl & Rrara 3) Toang |
Explain the theory of NMR spectroscopy.

wodsuruonsid,/dyy



